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Choose the best answer for each of the following(1 point for each,10 points in total)
Which of the following description for the future of computer development is true?
A. to continue developing and improving computer networks
B. the development of computers has already reached its peak
C. the society would have developed safer without computer
D. electronic computers have hindered the development of molecular computers
Storage devices can be
A. either internal or external storage
B. external storage only
C. internal storage only
D. registers and memories
Which of following descriptions about the language software is true?
A. it is free of charge
B. it helps programmers write programs
C. it is kind of application software

D. it is kind of system software

. The assembly language is introduced in order to

A. simplify the process of programming
B. shorten the running time of a machine language
C. assign mnemonic code to each symbolic operands

D. translate the symbolic operands into machine language codes
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5. Which of the following about a computer virus is true?

A. it is a piece of software whose purpose is to replicate

B.
C.

it always gains control over iis host by human operations

it all contains code which can be activated without a trigger mechanism

D. it can hardly attach itself to a file

6. The task manager of a cooperative multitasking system maintains a list of tasks and the

order in which the task execute.

A. gains control over

C.

B. takes notes of

has an effect on D. keeps track of

7. Which of the following is NOT the feature of Microsoft Access?

A
B.
C.
D.

the behind-the-scenes processing
the modification of drawings
the incorporation of text and graphics in one report

the exchange of data between files.

8. Which of the following is true about the computer office system?

10.

A.

D.

although it has become feasible to provide virtually every office worker with a PC, it is more

cost-effective for PC users to share files and common peripherals

. because it has become feasible to provide virtually every office worker with a PC, it is not

common for PC users to share files and common peripherals

. because it has not become feasible to provide virtually every office worker with a PC,it is

not common for PC users to share files and common peripherals
although it has become feasible to provide virtually every office worker with a PC, it is still

not common for PC users to share files and common peripherals

What makes virtual reality different from other computer simulation?

A
B.

C.
D.

it provides 3d representation of real world

it provides special interface to operate sights,sounds,and sensation of the simulated world

with the user
it operates 3d graph generated by the computer

it requires special interface to map visual representation of real world into computer for the

user

Which of the following is NOT true about AI?

A.

B.

C.
D.

Artificial Intelligent is of the ability to perform the same kinds of functions that characterize
human thought

Artificial Intelligent is of the ability to perform some functions that characterize human

thought
Artificial Intelligent is now capable of performing some substitution to human thought

Artificial Intelligent is in no means of performing functions that characterize human thought
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35.
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. Terms and phrases explanation(1 point for each,20 points in total, with either English

or Chinese)

. RAM

. Microchip

. Machine language

. Software

. Binary tree

. Multi-user

. Browser

. Gigabytes

. Computer viruses

. Cursor

. Keyboard

. Computer graphics

. DLL

. Multi-task computer system
. Executable file infector

. Computer-Aided Instruction
. Flight simulator

. Word processor

. Memory management
. World Wide Web

Translate the following into English (10 point for each,20 points in total)

- Internet By RN CAL BA BRI R L HHES] . Internet 38 1 3038 F t R TR AT E

DL, e 14T REE R, FF KRS T AT 2% T s h AR RE S

- RBEHOR R R GER (AR I R M 4O R BT B BT LR AU A AT 6E,

WARE 5 LI '

. Translate the following into Chinese(10 point for each,30 points in total)
33.

A mouse is a relative pointing device because there are no defined limits to the mouse’s
movement and because its placement on a surface does not map directly to a specific screen
location.

Text materials in typed or printed form can be input directly into a computer by means of a
scanner. To read text, optical character recognition software must first be used to convert
printed documents electronically into computer-readable files.

Many scientists remain doubtful that true AI can ever be developed. The operation of the
human mind is still little understood , and computer design may remain essentially incapable of

analogously duplicating those unknown,complex process.
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V. Writing (20 points in total,no less than 150 words, with English only)

36. Cite one example application of Virtual Reality and give a brief comment to its futuie.
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